
日にち： 月 日

名まえ
２

② 確認

・ けいさんを しましょう。

① ５ ＋ ６ ＝

５ １

② ５ ＋ ７ ＝

５ ２

③ ５＋ ８＝

５

④ ５＋ ９＝

５

(うすいじはなぞりましょう。)

５ ＋６＝

５ １

５＋６

５ １

＜５＋６の けいさんの しかた＞

➊ 6を

    5と 1に

わけます。

❷ 5に 5を

たして 10。

10

５＋６

❸ 10と 1で 11。

(うすいじはなぞりましょう。)

10
５ １

10



日にち： 月 日

名まえ
２

② 確認 答え

・ けいさんを しましょう。

① ５ ＋ ６ ＝

５ １

11

② ５ ＋ ７ ＝

５ ２

12

③ ５＋ ８＝

５ ３

13

④ ５＋ ９＝

５ ４

14

(うすいじはなぞりましょう。)

10

５ ＋６＝

５ １

５＋６

５ １

１１

＜５＋６の けいさんの しかた＞

➊ 6を

    5と 1に

わけます。

❷ 5に 5を

たして 10。

10

５＋６

❸ 10と 1で 11。

(うすいじはなぞりましょう。)

10
５ １

10

10

10
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